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PSYCHOLOGY

Paper - Il

1. When we look out of the window of a train, 3. Which of the mnemonics are used for

objects outside appear to be moving at
different speeds. Objects closer to us
move in opposite directions. Objects at a
far distance seem to move in our direction.
This is called

(A) Phi-phenomenon
(B) Motion parallax
(C) Kinetic illusion

(D) Depth perception

2. Assertion (A) : Behaviourists viewed

psychology as a
science of behaviour.

Reason (R) : Behaviour could be
described objectively in
terms of stimulus and
response.

(A) Both A and R are individually true
and R is the correct explanation of A

(B) Both A and R are individually true but
R is not the correct explanation of A

(C) Aistrue but R is false

(D) Ais false but R is true

improvement of memory ?
1) Imagery
2) Method of Loci
3) Organization

Select the correct answer using the code,

given below :
(A) 1and 2
(B) 1and 3
(C) 2and 3
(

D) 1,2and 3

4. |dentify the correct sequence.

(A) Law of acquisition, law of higher order
condition, law of discrimination, law
of extinction

(B) Law of acquisition, law of extinction,
law of higher order condition, law of
discrimination

(C) Law of higher order condition, law of
discrimination, law of extinction, law
of acquisition

(D) Law of extinction, law of
discrimination, law of acquisition, law
of higher order condition



5. Match the following :

1) Kohlberg a) Body type approach

2) Erickson b) Social learning

3) Sheldon c) Psycho-social

development

4) Bandura d) Moral development
(A)1-d, 2-c¢, 3-a, 4-b
B)1-c, 2-a, 3-d, 4-b
(C)1-a, 2-c¢, 3-b, 4-d
D) 1-¢c, 2-b, 3-d, 4-a

6. Innate species specific complex chain of

behaviour is termed as

(A) Reflexes

(B) Habits

(C) Instincts

(D) Aptitudes

7. Match the following :

1) Emotional a) Raymond Cattell
intelligence

2) Fluid b) Robert Sternberg
intelligence

3) Intrapersonal c¢) Daniel Goleman

intelligence

4) Componential d) Howard Gardner

intelligence
(A)1-b, 2-c¢, 3-a, 4-d
(B) 1—-d, 2-b, 3-a, 4—-c
(C)1-c, 2-a, 3-b, 4—-d
(D) 1-b, 2-d, 3-c, 4-a

8. Assertion (A) : Neither trait nor type theory

can explain total personality.

Reason (R) : Personality is the
interactive effect of
individuality and
environment

(A) Both A and R are true and R is the

correct explanation of A

(B) Both A and R are true but R is not

correct explanation of A

(C) Aistrue but R is false

(D) Ais false but R is true



9. Which of the following statements is
correct regarding the standard normal
distribution ?

(A) Itis also called the Z distribution

(B) The mean is 0 and standard deviation
is 1

(C) Mean, median and mode are the
same

(D) All the above

10. Which of the following are included in the
Gestalt principles of perceptual
organization ?

1) Figure ground, proximity, continuity
2) Proximity, continuity, good form
3) Continuity, good form, closure

4) Good form, closure, facilitation
Select the correct answer

(A) 1and 2

(B) 3and 4

(C) 1,2and 3

(D) 2 and 3

11. Match the following :
1) Hebb a) Language production
2) Wernick b) Hemispherical
dominance
3) Sperry c) Language
comprehension

4) Broca d) Synaptic conduction

(A)1-d, 2-c¢, 3-b, 4-a

B)1-b, 2-d, 3-a, 4—-c

€C)1-c, 2-b, 3-d, 4-a

(D) 1—-b, 2-a, 3-d, 4—-c

12. The stimulus that was originally neutral

and comes to be response producing is

(A) Unconditional stimulus

(B) Conditioned stimulus

(C) Reinforcement

(D) None of the above



13. Saving method is also called as 17. Match the following :

(A) Recall (B) Relearning 1) U test a. Measure of variability

2) F-test b. Factor analysis
(C) Recognition (D) Reintegration ) y
3) Elgen value c. Non parametric test
14. Poincare reported solving a difficult 4) S d. Analysis of variance
mathematical problem through the use of (A) 1 2-d, 3-b, 4-a
(A) a heuristic (B) an algorithm (B) 1 2_¢c, 3-d 4-a
(C) amentalset (D) incubation ) 1- 2_a 3-b, 4_c
(D) 1-b, 2-a, 3-d, 4—-c

15. The part of nervous system which is active

under emotional state

18. Which of the following are true ?

A) Sympathetic

1) Emotions are controlled by limbic

) Spinal cord
system

C) Parasympathetic

2) Emotions are both positive and
) Somatic negative

(
(B
(
(D

3) Emotions are harmful

16. According to Gardner’s theory of multiple
9 y P 4) Sympathetic nervous system

intelligence which of the following are determines the intensity of emotions

distinct types of intelligence ?

1) Linguistic intelligence (A) 1,2 and 3 are true
2) Musical intelligence (B) 3and 4 are true
3) Kinaesthetic intelligence (C) 1,2and 4 are true
4) Creative intelligence (D) All the above are true
Select the correct answer 19. Identify the correct sequence.
(A) 1,2and 4 1) The genital stage
(B) 2,3 and 4 2) The embryonic stage
(C) 1,3and 4 3) The fetal stage

(A) 2,3, 1 (B) 3,2, 1
(D) 1,2and 3 ©) 1,23 0) 132




20. Arrange in ascending sequence.
1) Medulla
2) Pons
3) Spinal cord
4) Hypothalamus
(A) 1,2,3and 4
(B) 2,3,4and 1
(C) 3,1,2and 4

(D) 4,3,2and 1

21. The capacity of a test to measure what it

sets out to measure is called
(A) Standardization

(B) Validity

(C) Reliability

(D) Objectivity

22. The correct order of the stages of Freud’s

theory of development is
(A) Oral, phallic, latency, anal and genital
(B) Oral, latency, genital, phallic and anal

(C) Sensorimotor, concrete operations,
trust, oedipal and genital

(D) Oral, anal, phallic, latency and

genital

23. Which of the following abilities are
measured in tests of creativity ?
1
2

Fantasy
Flexibility

4) Elaboration

)

)
3) Originality

)
5) Colourfulness of imagery
(A) 1,2and 4
(B) 1,3and 5
(C) 8,4and 5
(D) 2,3and 4

24. Introversion — Extroversion was first
proposed by

(A) Freud (B) Adler

(C) Eysenck (D) Jung
25. What is meant by fixed-ratio schedule of
positive reinforcement ?

(A) Reinforcement is given after a
variable number of responses

(B) The response must occur a certain
number of time before reinforcement
is given

(C) Reinforcement is given for every
occurrence of particular response

(D) No reinforcement is given until a
certain interval of time has elapsed



26. Which one of the following is not a

mnemonic method ?
(A) Chunking (B) Rehearsal

(C) Pegging (D) Loci

27. The brain center that is found to regulate

long term memory is
(A) Hypothalamus
(B) Hippocampus
(C) Limbic system

(D) Medulla

28. In the creative thinking process illumination

refer to

(A) Unconscious process of finding

solution

(B) Active participation during problem

solving

(C) Occurrence of sudden solution to the

problem

(D) Finding solution to the problem

during night

29. Maitch the following :

1) Collective a. Rogers
unconscious
2) Psycho sexual b. Freud
development
3) Individual c. Jung
Psychology
4) Humanistic d. Adler
Psychology
(A)1-c, 2-b, 3-a, 4-d
B)1-b, 2-¢, 3-a, 4-d
€ 1-b, 2-c¢, 3-d, 4-a
(D) 1—-c, 2-b, B38-a, 4-d

30. Which of the following properties of objects
influence depth perception as a monocular

cue ?
1) Clearness
2) Linear perspective
3) Texture
4) Light and shadow
5) Interposition
(A) 1,2,3and 4
(B) 1,2,3,4and 5
(C) 1,4and5

(D) 2,3and 5



AN
31. Which of the following are principles of
Gestalt ?
1) Proximity
2) Closure
3) Similarity
4) Difference
(A) 1,2and 3
(C) 1,2and 4

(B) 1and 2
(D) 3and 4

32. In the operant conditioning model, which
of the following are secondary
reinforcements ?

1) Tokens
2) Money
3) Light
4) Peg
(A) 1 only
)

(C) 83and 4

(B) 1and 2
(D) 3 only

33. The effect of previous learning upon

retention of some later learning is
(A) Retro active (B) Forgetting

(C) Proactive (D) Relearning

34. A very brief retention of a signal in its
unprocessed sensory form is

(A) Shortterm memory
(B) Longterm memory

(C) Repression

(D) Sensory storage

35. By obtaining scores from a group of
participants on a test at two different time

point, a researcher is estimating
(A) Split half-reliability
(B) Internal consistency reliability
(C) Test-retest reliability

(D) Chronbach reliability

36. The greatest concentration of cones

occurs in

(A) Pupil (B) Blind spot

(C) Optic nerve (D) Fovea
37. In a normal distribution approximately
what percentage of cases fall within plus

and minus one SD ?

(A) 34% (B) 68%

(C) 100% (D) 95%

38. Lowered levels of these neurotransmitters
may precipitate depression

1) Norepinephrine
2) Dopamine

3) Serotonin

4) Endorphin

(A) 1and 3

(C) 1,2and 3

(B) 1and 2
(D) All the above



39. Which of the following is a performance
subtest ?

(A) Comprehension

(B) Digit span

(C) Object assembly

(D) Similarities

40. Match the following :

a) Semantic 1) Guttman
differential

b) Equal appearing 2) Likert
interval scale

c) Cumulative scale 3) Thurstone

d) Social distance 4) Osgood

5) Bogardus

(A) a-4, b-3, c¢-2, d-5
B)a-4, b-3, c¢-1, d-5
(C)a-2, b-1, c-5, d-3
(D) a-5, b-3, «c¢-1, d-4

41. Your knowledge that Giraffe’s and
Leopard’s are spoted and that zebra and
tigers are straight illustrate

memory.
(A) Episodic memory
(B) Flash bulb
(C) Semantic
(

D) Procedural

42.

43.

44,

Herman is trying to remember the list of
things he supposed to pickup before he

goes to the market. Hisis a

recall task.
(A) Serial (B) Free
(C) Cued (D) Schematic

Consider the following in the perceptual

process

1) Organization
2) Sensory input
3) Interpretation
4) Selective attention

Identify the correct sequence.
(A) 1,4,2,3, (B) 2,3,1,4

(C) 1,3,2,4 (D) 2,4,1,3

Which of the following are included in

Thurstone’s test of primary mental abilities ?
1) Word fluency
2) Memory
3) Digit span
4) Reasoning
5) Perceptual speed
(A) 1,2,3and4 (B) 1,3,4and5

(C) 1,2,4and5 (D) 2,3and5



45. The WAIS consists of
1) Vocabulary
2) Digit span
3) Picture arrangement
4) Object assembly

(A) 1 only (B) 1,2and 3

(C) 1and 3 (D) All the above

46-50 are based on the following passage :

The thalamus is a part of fore brain located just
above the mid brain, functions mainly as a relay
station of the brain. Sensory information from
the environment travels through the spinal cord
or information coming from areas of the mid
brain and hind brain usually arrives at the
thalamus and is then relayed to appropriate
areas of the cortex. The thalamus is organized
in the various centers called nuclei. Specific
nuclei send information to specific areas of

cortex.

46. Sensory information from the environment
travels to the spinal cord and thalamus by
way of

(A) Afferentnerves
(B) Spinal nerves
(C) Thalamidic neurons

(D) Efferent neurons

47. The part of the thalamus that sends

information to the visual cortex is
(A) Lateral posterior nucleus
(B) Anterior body

(C) Dorsomedial

(D) Lateral geniculate nucleus

48. The thalamus differs in reticular activating
system in that

(A) It contains more white matter
(B) Itis arelay station for information

(C) The different sensory systems are
kept rigidly separate

(D) It contains more grey matter

49. The hypothalamus is to homeostatic
regulation as the thalamus is to the

regulation of
A) External signs of emotion
B) Muscle tone

(A)
(B)
(C) Breathing
(D)

D) Hormone production

50. The thalamus is considered to be the part

of
(A) Sympathetic nervous system
(B) Parasympathetic nervous system
(C) Haptic system
(

D) Central nervous system
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